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Aufgabe 1.
T min = —1 fir x= —%
Tomaz = 17 fir z= -4
T3 min = -5 fir z= %
Timaz = —2 fir z= 2
T5maz = 6 fir z= 9
To,maz = 3 fir = -2
Aufgabe 2.
To(z) = —(2 —0,5)% — 8
Aufgabe 3.
Te(x) = (x +3)> +2 =22+ 62+ 11
Aufgabe 4.
a) Tmin = 7% fir z= 2
b) Tmax = 3 fir = -1,3
¢) Tmin = —30,25 fir x= 55
d) Tmex = 4 fir z= 0
Aufgabe 5.
a) Tmin = -3 fir = 05
b) Thex = -1 fir z= -3
Aufgabe 6.
a) Tpmin = 6 fir z= 1
b) Tomin = -—10,25 fir = -—4,5

Aufgabe 7. a)

Aufgabe 7. b)

Aufgabe 8.

T(x) = 6x—0,252% — 9z — 32
= —0,2522—-32x—-9

= —0,25(2? +122) — 9

= —0,25(2%+2-62+6%—6%)—9
= —0,25[(z +6)%—36] -9 Hier geht es zuriick zum Aufgabenblatt

= —025(x4+6)2 = Thew=0 fir z=—6
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